Barnett

Algebra 1
Honors

Packets 11-16



| Distance Formola Novess
~ Bad e valve oF a vF e p@m‘v% with e
__3;\4%__@@1(5(1(\0’?&3 ae e yndicted distonce C‘\TXK’\‘

BRI NN IR LIE S NE R

RSP SRR S N i I [P e

e o 1D=d (-2 + (2 3H* [ F= I TrD) + (o B)
S\m?_\a%, 13=d@-D2+ O U= {0+ (o)
Tl T
SNWRECH ¢y ool N I Ry o)
1 = (-3 I s S
e IR-0-F o ~B0-F  |%=0t5 o ~Yeg¥

*r==ll20=al  Tweal [[=a] Thl



Distance . Formda Nates Comhoued
@ (b (F-) A= P (2-) =TR

) e e H‘.\ﬂ\’ﬁi@._d= ’l (KZ_XI)?_ ¥ (\Jz "\).,)2 C\z bl (xz = xj.)-zﬂ (\/.1 "7,)2

i anfe S =N oY (e I = A2-a)* 1A

SR 1~ B [T Eve N e T e e

iqumr:égc\’ﬂ CIEDR =C\r:\ + (% _quz (mlz (n! (Z-Q)Z+Ljrc1\> )
S\

Move | O D\ + (-l-ad* = (2-0)% +19
e Vet

H= (Fb-a)® 2= (7o
fi;km. rect "[? = N (Fo-a)’ 175 = d(z-ay?
bolh SO

P\t e 2 ==1lp=0 o =L= WO B=2-0qx- D=2Z-q

{

{
o

{!

{
i




- Insbhructionad Packet Fll Show all work,

NAME : DATE
R 'PI'OCtiC;e‘ S’:g!gir;tgm
Integration: Geometry -
The Distance Formula

Find the distance beitween each pair of poinis whose

coordnatesaregmen Express answers In simplest radical
form and as decimal approximations rounded to the nearest

hundredth. - |
LONOLY 2. (5,2), 8, ~2)

5. (1,-8),L,4 4,9,05T)

5. 5,2), (3,10 | 6. (-1, ~4),(~6,0)
7-8-D,¢-1L,8) 8 (~3,-8),(~7,2)
9. (O, _:44), ® 2 10. (-6, 3), (10, 3)

. (3 3t L ngoe)
13, {v’é, HeVESH S (.éﬁ, -1) 8V, 4)

. Find the valuaofaifthepolmsmmﬂwmm coordinatesam

the h:dicatad distance apari.

18(-2,-B), @ =18 '16.(8 2)(5a),d s

17, (4,0), 0,65 =5 186, 4,(-3,-2;d= Vel



V\\C\\"D\(‘T\‘ Yormda

Noves

A = o @dwm\- P e md}mﬁr T e

%ﬁ(\‘fl@\\’ﬁ
: 'D_A(_;m P(E -\

g
o ()~

| (@+3Z _ -2
Y52
1<¢%J’-’Z_7L

OAEM) P(s, 2
M\d\’xnﬂ* (?&r‘rxz jjr\;l) ! 3

(x|+xz YJ*\}z‘
SN L =
("—Hxl -5

2

__t_&. .lse_
e
o
(9,20




-70\‘(\_\‘ R\”ﬁ\\)\g
@_,A(\Q“S PO

Midpsin: (x TRz I.L)

\‘t:)m\\)\f?.
()_(J_)_(z_) \Q*‘Xz.>
( \Qﬂzz), Z
L e =-3

[ "&7*\/ ()=
Has)-2

\\;2_ =
=S

\QL\@ Comhaued
A(-)-10) P(CE3)

?ﬂ,+7“z N, j >

(“;ﬂ-

]xz = ‘“?S‘-}_

~10+ LN
( 2 ).‘ Z,
N, =9

[C50)]




-

Yocketr Fl12. ONow all worl.

NAME ; DATE

5 : _ ' Student Edition.
Integration: Geometry - '
Midpoint of a Line Segment
meemwﬂfnatesafﬂremldpomtofﬂmsogmantmﬂ!
each pair of endpoints. ‘

3. U(-3,2); V(-3, —4) | 4. M(-2, 6), N(8, 6)

5. J(12, 8), K(—8, 1) . 8. A1, -1), BG,2)

9. X(~1, 4), Y5, —4) 10. S(—4, -7, T, 1)

11. C(8, —8), D, 4) 13 12. £(3,3), F(1,3)

If P is the midpoint of line segment AB, find the caordhates

of the missing point.
1. 46,9, P(1. - . o 5ol )
15. A1, 5), P8, D E 16. B(@, 11), PG, )

17. A4, -1), B(7, -38) 18. P(-2, —1), A(-8, —5)
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Whatldoestakfishiwithoutleyesliookflike?

To figure out the joke, cross out the letter that matches the answer to each problem.

Find the distance between the two given points.

1. (35) and (6,8) _ 2. (4-3) and (-1.0)
3. {B5-4) and (-1,-2) 4. (-2,0) and (0,-4)
5. (-3, -4) and (3,4) 6. (-2.1) and (12)

Find the midpoint of each segment with these endpoinis.

7. (24) and (6,10) 8. (-34) and (4.-7)
9. (0,-3) and (5,0) ‘ 10. (-7.-3) and (-2.1)

Glven the midpoint and one of the endpoints, find the other endpoint of the segment.

1. M(3,2) and E(6.8) 12, M(-3,7) and E(0.2)
13. M(-24) and E(5.-5) - 4. M(0,0) and E(-2.2) -
A S T R F A | W E
©0-4) |5 3\ VB4 (-913) 2¥2 10 (47 2% 1 B
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ANSWER: _

Folygons — Distance and Midpoint Formulas 3 © o Joke #30
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- Qnow all wovl,  Neme
Quiz - Distance and Midpoint

Fil-ld. the dlstance Beﬁveen each pair of points.

1) — J____Jl.y 2) Ay L=
| -
P Z " & 2
e ;é;’ AERE B T ) Wik
] v
3) AY 4) Ay
T : -
P
T T - _-ay":z W
¥ v
5) (8: _'8)3 (_*83 -1) 6) (_6: _4)> (6: _2)
7 (2,0, (-6,7) 8) (1,-4), (-8, 6)

9 (4,0), (-3,5) 10) (7,5), {~6,-3)
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Find the mldpomt of e segment,
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Find the midpoint of the line segment with the given endpoints.
5) (1,-9), (9,6) 16) (-3,-6), (3,-4)
17) (-9,9), (3,9) '18) (4,8), (-6,-4)

19) (-6, 6), (9,-1) 20) (9,-8), (10,-1)
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Linear function: ”'D Quadratic function:
y=mx+ b y=ac+ bx+c

§ For 2 linear function, if @ For a quadratic function, if
m =2 and b = 4, then a=1 b=2, and c = -5, then
y
y= : y=
a. Complete the table below, a. Complete the table below,
then graph this function. ' then graph this function.
x|y i p x| u
0 -4
1 < * -3
-3 -2
-]
b. For your graph, find: 0
® The slope of the line. 1
® The y-intercept. 2 :
. : 4 2
¢ The x-intercept. NG _;_é’ find x.

c. Every point in the
: c. What is the connection ..

representsa________ of the _ between this value of x
equation. _ - and your graph?
A y
&3 For a linear function, if 4. For a quadratic function, if
m=%-andb=—1,then a==-2, b=4, and c = 3, then
y= 2l . yT ’
” - a. Complete the table below,
o th:nlpgl:gﬁghic] tai %}fnbcg'lgz‘:n X then graph this function.
AR ' —=
0 —~2
3 ' ol
-y ' 0
: : : 1
b. Foryour graph, find: 2
¢ The slope of the line. 3
@ The y-intercept. : ,
¢. For what value of x does , b. Estimate from the graph:
y=0? . : T For what vatues of x does

17



